2-KK

o] L6 —
N_DH J JT
D Z -
. — § \ 2
©
o = &()
=
2|2 — — ® .
oF——0o :
o~ ™
= I
S
B
E|l Wl w B8 A
= =s| -
Ww | <t 6 AB
ol &>
OUTLINE DIMENSIONS FLANGE MOUNTED MOTORS SHAFT EXT.DE ONLY WEIGHT(kg)
FRAME
A | AA| AB| AC| AD KK L N| P| S D DH E F| G
90S 140 | 37 {180 (177 | 160 M25x1.5 | 330 130 | 200 |@12 @24 M8x19 | 50 20
90L 140 | 37 [ 180|177 | 160 M25%1.5 | 360 130 | 200 |@12 @241 M8x19 | 50 20
100L 160 | 40 [ 205198 | 172 M32x1.5 | 400 180 | 250 | @15 @28 M10x22 | 60 24
112M (190 | 41 | 230|220 | 190 M32x1.5| 435 180 | 250 | @15 @28 | M10x22 | 60 24
DATE CHECKED BY
2A90-112 B35 DESIGNED BY APPROVED B
CUSTOMER APPROVAL DIMENSION OUTLINE ISSUE DATE CERTIFIED BY
SIGNATURE DATE ISSUE DATE CERTIFIED BY

DWG #

ISSUE

DATE

CERTIFIED BY

ISSUE

DATE

CERTIFIED BY




2-KK
@, S e
AR
B ﬁf\_ /\pg
T / \
\
/— \ ™ S g
SO © ) M\/ &
, \)
=z - _
< | & m
®
N @ @ /
f A O
S \ 7 \ O
(@p)
. - L
= =| P2
w2
=k
OUTLINE DIMENSIONS FLANGE MOUNTED MOTORS SHAFT EXT.DE ONLY WEIGHT(kg)
AC| AD| KK| L M| N| P| S| T D [IDH|E | F | G
LO
% > Y Y| Q| ®
» D|lD|lD| D
=8| <8 8121858 3218« |3/3/3(3
(@] (@] (@ ~
DATE CHECKED BY
2A90S B5 DESIGNED BY APPROVED BY
CUSTOMER APPROVAL DIMENSION OUTLINE ISSUE DATE CERTIFIED BY
SIGNATURE DATE ISSUE DATE CERTIFIED BY

DWG #

ISSUE

DATE

CERTIFIED BY

ISSUE

DATE

CERTIFIED BY




| AR |
- NN
T / :
\
/— \ N S g2
@) © A M\/ S
M \\D//z/
W = u . Q
<| & m
®
N @ @ /
f @) @)
= N 7 \ Q
(@)
. B L
= =| 2
w| <<| 5
i
OUTLINE DIMENSIONS FLANGE MOUNTED MOTORS SHAFT EXT.DE ONLY WEIGHT(kg)
AC| AD| KK| L M| N| P| S| T D [IDH| E | F| G
Lo
< > N Y| @
% S T et T Bt Y B
=8| <8 81 8|8| 5|4 32|18« |8/8]8]8
(@] (@] (@ ~
DATE CHECKED BY
2A90L B5 DESIGNED BY APPROVED BY
CUSTOMER APPROVAL DIMENSION OUTLINE ISSUE DATE CERTIFIED BY
SIGNATURE DATE ISSUE DATE CERTIFIED BY

DWG #

ISSUE

DATE

CERTIFIED BY

ISSUE

DATE

CERTIFIED BY




